
 Senior Secondary Course 
Learner’s Guide, Mathematics (311) 

 

                                                                                              1  Mathematics (311) 
 

 

 

 

 

 

 

 

 Straight line parallel to an Axis 
 

 The equation of any line parallel to x-
axis is y = b  

 
 The equation of any line parallel to y – 

axis is  x = c 

 

Equation of straight line in various 
standard forms  

(i) Slope intercept form  
 
y = mx + c  
 

(ii) Point  - Slope form 

 m = 
୷ି୷ ଵ

୶ି୶ ୷
   

Hence equal of straight line  
 
y − yଵ = m ( x –  𝑥ଵ) 

 

(iii) Two- Point Form  

Here   m = 
୷మି ୷భ

୶మି୶ ୷
   

 

 

 

 

 

 

 

 

The equation of straight line in 
two point form as  

y − yଵ = m (x – x y) 
 

≫ y − yଵ =  
୷మି ୷భ

୶మି୶ ୷
 (x − xଵ)   

 
(iv) Intercept form  

୶

ୟ
+  

୷

ୠ
=  1   

 

(v) Normal Form  

x cos  ⋉ +  y sin  ⋉ = P   

Where ‘p’ is the length of 
perpendicular from origin and 
′ ⋉ ′  be the angle between 
positive direction.  

 

General Equation of Straight line  

The general form of equation  

Ax + By + C = O  

14 

Straight Lines  
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(i) Slope of line =  − 
୅

୆
 

(ii) x − intercept =  − 
େ

୅
 

(iii) y − intercept =  −
େ

୆
 

(iv) Length of perpendicular from the 
origin to the line  
 

=   
|େ|

√୅మା୆మ
  

 

Distance of a given point   (xଵ +  yଵ)  from 
a given line    Ax + By + C = 0 is  

d =  ฬ
Axଵ + B yଵ + C

√Aଶ + Bଶ
ฬ 

 

 

 

1. The equation of the line which 
passes through the point (3, 4) and 
the sum of its intercept on the axes is 
14, is - 

(A) 4x – 3y = 24, x – y = 7  
(B) 4x + 3y = 24, x + y = 7 
(C) 4x + 3y + 24 = 0, x + y + 7 = 

0 
(D) 4x – 3y + 24 = 0, x – y + 7 = 

0 
2. If the intercept made by the line 

between the axes is bisected at the 
point (x1, y1), then its equation  

is - 

(A)  
1x

x +
1y

y = 2  

(B) 
1x

x +
1y

y = 1 

(A) (C) 
1x

x +
1y

y =
2

1   

(D) None of these 
3. If x + 2y = 3 is a line and A(–1, 3);  

B(2, –3); C(4, 9) are three points, 
then - 

(A) (A) A is on one side and B, C 
are on other  
side of the line 

(B) (B) A, B are on one side and 
C is on other  
side of the line 

(C) (C) A, C on one side and B is 
no other side  
 of the line 

(D) All three points are on one 
side of the line 

4. If A(–2,1), B(2,3) and C(–2,–4) are 

three points, then the angle between 

BA and BC is - 

(A) tan–1 







2

3   

(B) tan–1 







3

2   

(C) tan–1 







4

7    

(D) None of these 

5. The equation of a line parallel to ax 

+ by + 𝑐̀ = 0 and passing through the 

point (c, d) is - 

  (A) a(x + c) – b(y + d) = 0 

  (B) a(x + c) + b(y + d) = 0  

  (C) a(x – c) + b(y – d) = 0 

  (D) None of these  

 

Check Your Progress 
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6. If the point (5, 2) bisects the 

intercept of a line between the axes, 

then its equation is-  

 (A) 5x + 2y = 20 (B) 2x + 5y = 20  

 (C) 5x – 2y = 20  

 (D) 2x – 5y = 20 

 

7. If the point (3,–4) divides the line 

between the  

x-axis and y-axis in the ratio 2 : 3 

then the equation of the line will be - 

 (A) 2x + y = 10 (B) 2x – y = 10  

 (C) x + 2y = 10 (D) x – 2y = 10 

8. The angle made by the line joining 
the points  

(1, 0) and (–2, 3 ) with x axis is - 

(A) 120º (B) 60º  

(C) 150º (D) 135º 

 

9. If A(2,3), B(3,1) and C(5,3) are three 
points,  
then the slope of the line passing 
through  

A and bisecting BC is - 

 (A) 1/2 (B) –2  

 (C) –1/2 (D) 2 

 

10. If the vertices of a triangle have 
integral  
coordinates, then the triangle is - 

(A) Isosceles  
(B) Never equilateral 
(C) Equilateral  

(D) None of these 

 

11. The equation of a line passing 
through the  
point (–3, 2) and parallel to x-axis is 
- 

(A) x – 3 = 0  (B) x + 3 = 0  

(C) y – 2 = 0  (D) y + 2 = 0 

 

12. If the slope of a line is 2 and it cuts 
an intercept – 4 on y-axis, then its 
equation will be - 

(A) y – 2x = 4 (B) x = 2y – 4  

(C) y = 2x – 4 (D) None of these  

 

13. The equation of the line cutting of an 
intercept –3 from the y-axis and 
inclined at an angle  

tan–1 3/5 to the x axis is - 
(A) 5y – 3x + 15 = 0  
(B) 5y – 3x = 15  
(C) 3y – 5x + 15 = 0  
 (D) None of these 
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1. Find the equation of the line 
which passes through the point 
(3, 4) and the sum of its 
intercept on the axes is 14 

2. Calculate the distance of the 
point (2, 3) from the  
line 2x –3y + 9 = 0 measured 
along a line  
x – y + 1 = 0 

3. Find the equation of a line 
through the point of 
intersection of the lines x – 3y + 
1 = 0 and  
2x + 5y – 9 = 0 and whose 

distance from the origin is 5 . 

4. Find  the value of 4P1
2 + P2

2  

If P1 and P2 be perpendicular 

from the origin upon the 
straight lines xsec + ycosec = 
a and xcos – ysin = acos2 
respectively 
  

5.  What is the angle between the 
lines y – x + 5 = 0  

 and 3 x – y + 7 = 0  

 

 

 

 

1 B,  2 A,  3C,  4B,  

5C,  6B  7B  8B  

9C  10 B  11 A  12 C  13 C  

 

 

 

Answer to check your progress 

Stretch Yourself 


